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Research is

Options :

1. Searching again and again

2. Finding a solution to any problem

3. Working in a scientific way to search for the truth of any problem
4. Working in a random way hoping that luck will deliver the goods
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How can one judge the depth of any research?
Options :

1. By the research title

2. By the research objectives

3. By the duration of research

4. By the total expenditure on research
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The first two steps in starting a Research program are:

Options :

1. Identifying the Research Problem and then Extensive Literature Survey
2. Collecting data and then analysing it

3. Literature Survey followed by data collection

4. None of these
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Why do you need to review the existing literature?

Options :

1. To make sure you have a long list of references

2. Because without it, you could never reach the required word-count
3. To find out what is already known about your area of interest

4. To help in your general studying
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A formal document that presents the research objectives, design of achieving these objectives, and the expected outcomes of the study is called:
Options :

1. Research design



2. Research proposal
3. Research hypothesis
4. Research report
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What are the core elements of a Research Process?

Options :

1. Introduction; Data Collection; Data Analysis; Conclusions and Recommendations

2. Executive Summary; Literature Review; Data Gathering; Conclusions; Bibliography

3. Research Plan; Research Data; Analysis; References

4. Introduction; Literature Review; Research Methodology; Results; Discussion and Conclusions
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Which of the following is true regarding research objectives?

Options :

1. Research objectives, when achieved, will provide sufficient earnings to obtain a reasonable return on investment.
2. Research objectives, when obtained, will ensure the viability of the marketing research department.

3. Research objectives, when achieved, provide the information necessary to solve the problem.

4. Research objectives are seldom achieved
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A research scholar gets his PhD degree based on:

Options :

1. The number of years he spends as a scholar followed by passing a Viva Voce examination
2. The hard work he puts in as a scholar followed by passing a Viva Voce examination

3. Solely fulfilling the minimum required attendance

4. The positive evaluation of his Research thesis followed by passing a Viva Voce examination
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The quality of any research can be gauged by :

Options :

1. The publication of the research work in Peer reviewed Journals
2. The publication of the research work in local newspapers

3. The publication of the research work in popular magazines

4. poster presentations
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Data collection in research in the sciences usually consists of :
Options :

1. Experimental data or computations

2. Surveys through personal interviews

3. Surveys through telephonic interviews.

4. By mailing of questionnaires
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Which of the following activities can be considered a part of Research work?:

Options :

1. Partaking in the teaching and administrative activities of the department

2. Teaching students with patience and dedication the existing theories

3. Deriving pleasure in solving text book problems

4. Creating and proposing a novel and hitherto unknown theory or mathematical model
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A researcher always looks to publish his work in an important high quality journal. One way to identify the quality of a journal is by :
Options :

1. The selling cost of each issue of the journal

2. The Impact factor; the higher it is the better the journal

3. The money charged for each publication

4. None of these
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A research paper includes among other things :

Options :

1. Description of the output or findings of research work
2. Contains a research proposal

3. Is a well written fictional story

4. Is a list of daily research activity
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A journal generally publishes a research paper :

Options :

1. Only if the publication fee is credited

2. Only after it is reviewed and recommended by independent experts
3. Provided the paper is well written irrespective of the content.

4. Provided the Authors testify that the paper may be accepted
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A research work which aims to find a solution for a practical problem facing society or an industrial organization is called:
Options :

1. Empirical research

2. Fundamental Research

3. Conceptual research

4. Applied Research
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Research which works on the formulation of a sound theory to explain a phenomenon is:
Options :

1. Applied Research

2. Empirical research

3. Theoretical /Fundamental Research

4. Conceptual research
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A kind of theory which is not based on solid basic science but manages to explain some observable or experimental phenomenon is called:
Options :

1. Applied research.

2. Empirical research

3. Fundamental research

4. Conceptual research
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Research in which statistical, mathematical, or computational techniques are applied to obtain accurate results is called:
Options :

1. Applied Research

2. Empirical research

3. Fundamental Research

4. Quantitativeresearch
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Formulation of research problem is the step in which:
Options :

1. The data is collected

2. The literature is reviewed

3. The research problem is identified

4. The research tools are identified and readied
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The reason why a list of references or bibliography is added at the end of a research paper or report is :
Options :

1. To increase the number of pages in the paper or report

2. To provide readers with references for further research

3. To prove that the work is genuine

4. To prove that the Authors surveyed the literature
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A research article or paper begins with which of the following:



Options :

1. Abstract

2. List of references
3. Introduction

4. Conclusions
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Research design is :

Options :

1. Collecting references

2. Identifying the field of research

3. Laying the framework for conducting the research program
4. data collection

Question Number : 22 Question Id : 5400731222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Options :

1. G THa

2. 3FHYT & & B Ugd Bl

3. ST & TTeH & oY ORI TRIR AT
4. 3T EUR

Question Number : 23 Question Id : 5400731223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A concise summary of the research work in a report is called :
Options :

1. Abstract

2. Title

3. Results and discussion

4. Conclusions
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A research article which is not original work but is copied from others:
Options :

1. is legally permissible

2. is unethical and is called plagiarism

3. is allowed after paying a fine



4. None of these
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Intellectual property right gives an inventor or creator :
Options :

1. the right to buy or sell land

2. control over the invention/creation

3. manage one’s property

4. None of these
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One way to protect your intellectual property is through a:
Options :

1. Newspaper advertisement

2. Publicizing through Youtube

3. Patent

4. None of these
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Publishers of Journals and books prevent the duplication of their papers/books via:
Options :

1. Warning signs on the covers

2. Copyright law

3. Placards

4. None of these

Question Number : 27 Question Id : 5400731227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

UFT 3R G| & UHTIh U UHAl/QRdeh| & G-I Bl Aehd &
Options :

1. PR IR TSI &b Habdl

2. BIUT S B

3. QDTS

4. P TRl

Question Number : 28 Question Id : 5400731228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The smallest value that can be measured by a measuring instrument is called:
Options :

1. Least count

2. Accuracy

3. Error

4. None of these
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The visible spectrum of light lies between the wavelengths:
Options :

1. 100 nm to 400 nm

2. 400 nm to 700 nm

3. 100 nm to 1000 nm

4. 800 nm to 1200 nm
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1. 100 nm ¥ 400 nm

2. 400 nm ¥ 700 nm

3. 100 nm ¥ 1000 nm

4. 800 nm § 1200 nm
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The magnification M of a two stage compound microscope having magnifications M1 and M2 for the two stages is:

Options :
I.M=M1-M2
2.M=M1/M2

3.M=Ml1+M2
4.M=MIx M2
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1.M=MI1-M2



2. M=M1/M2
3. M=M1+M2
4. M =Ml x M2

Question Number : 31 Question Id : 5400731231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Ozone layer around the Earth is important because it :
Options :

1. Prevents the carbon dioxide from entering the Earth

2. Stops the infra-red light from entering the Earth

3. Prevents the harmful UV light from entering the Earth
4. Directly causes the greenhouse effect
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Fossil fuels like Petroleum, natural gas and coal release CO2 and other pollutant gases which :
Options :

1. cause global warming due to the Green house effect

2. lead to enhanced greenery on the Earth

3. lead to global cooling resulting to the freezing of the oceans.

4. None of these
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The sky appears blue in the day time because:

Options :

1. Sunlight is completely blue

2. The molecules in the atmosphere predominately scatter the blue wavelength of sun light
3. The clouds produce their own light which is blue

4. None of the se
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Heat is a form of energy which is measured in :
Options :

1. Pounds

2. Watts

3. Watt-hours

4. Calories
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One unit of Electricity equals:
Options :

1. 100 Watts

2. One Watt

3. One Kilo Watt hour

4. One Watt hour

Question Number : 35 Question Id : 5400731235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
faqgd P TP THTS SRR BNl &
Options :

1. 100 9Ic

2.Th dIc

3. T foefiare der

4. T dIc ¥el

Question Number : 36 Question Id : 5400731236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical measure is used to describe the dispersion of data around the mean?
Options :

1. Median

2. Mode

3. Variance

4. Skewness
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Which statistical test is used to compare means between two groups?



Options :

1. Chi-square test
2. t-test

3. Z test

4. None of these
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In a normal distribution, roughly what percentage of data falls within one- standard deviation of the mean?
Options :

1.0.45

2.05

3.0.68

4.0.95

Question Number : 38 Question Id : 5400731238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T G IR0 B, A dR W el &1 fard=1 ufer=rd A1e & Ueh A faga & HfaR 3imar g2
Options :

1.0.45

2.0.5

3.0.68

4.0.95
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Which of the following statements about the normal distribution is true?
Options :

1. It is a discrete probability distribution

2. The mean, median, and mode are equal.

3. The area under the curve is always less than 1.

4. It is either positively or negatively skewed
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What does the term “p-value” stand for in hypothesis testing?
Options :

1. Probability value

2. Population value

3. Percentage value



4. Power value
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‘What does the term “standard deviation” represent in statistics?
Options :

1. The average value of a dataset

2. The difference between the highest and lowest values in a dataset

3. The spread or dispersion of data points around the mean

4. The proportion of data points that fall within one standard deviation
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A small “standard deviation” for a given set of data means:
Options :

1. The data are tightly clustered around the mean

2. The number of data points are insufficient for study

3. The number of data points are too large for study

4. The range of the data is zero
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What is the purpose of a Z-test in hypothesis testing?

Options :

1. To compare the means of two independent groups

2. To compare the means of two paired groups

3. To compare the means of three or more independent groups

4. To compare the mean of a population to the mean of a sample within that population
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In a chi-square test, what does the null hypothesis state?

Options :

1. There is a significant difference between the observed and expected frequencies.
2. There is no significant difference between the observed and expected frequencies.
3. The population proportion is equal to the sample proportion.

4. The population mean is equal to the sample mean.
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In a chi-square test, what does the chi-square statistic represent?
Options :

1. The probability of a Type I error

2. The measure of effect size

3. The difference between the observed and expected frequencies
4. The probability of a Type II error
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Which statistical test is used to analyse the association or link between two categorical variables?
Options :

1. T-test

2. Chi-square test

3. Z test

4. None of these
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A statistical process of analysing and combining results from several similar studies is called :
Options :

1. Meta analysis

2. Correlation analysis

3. Regression

4. Error analysis To ensure the sample size is large enough
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Which statistical measure is used to describe the strength and direction of a linear relationship between two continuous variables?
Options :

1. Median

2. Mode

3. Correlation coefficient

4. Standard deviation
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A Pilot study in research is:

Options :

1. A preliminary study used to study the feasibility of a project
2. A final study ready for take-off

3. used when it becomes clear that the work will be abandoned
4. a seminar to showcase the research output
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What is the purpose of blinding in a clinical trial?

Options :

1. To keep the researchers unbiased

2. To keep the participants unaware of the treatment they receive
3. To prevent confounding variables from affecting the results

4. To ensure the sample size is large enough
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If X+ ¢ and T isaPowersetof X then (X,T) isa

Options :

1. Discrete Topological space.

2. Indiscrete Topological space.

3. Co-finite Topological space.

4. Co-countable Topological space.
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If (X,T) be atopological space, then which of the following statement is incorrect

Options :

1. Arbitrary intersection of closed sets is closed.
2. finite union of closed sets is closed.

3. Arbitrary union of closed sets is closed.

) ¢ and X are closed sets.
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If X and Y are two topological spacesand f:X — Y is a constant function,

then which of the following statement is correct
Options :
1. It is a homomorphism.
2. It is a continuous function.
3. It is a bijective mapping.
4. It is an onto mapping.
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Which of the following statement is true.
Options :

. Realline R is compact.

, Interval (0,1] is compact.



Interval (0,1) is compact.
3.

, Realline R is not compact.
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Which of the following statements is true.
Options :

1. Every metric space is a normed space.

2. Every normed space is a metric space.

3. Every normed space is an inner-product space.
4. Every topological space is a normed space.
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Which of the following is not a Banach space
Options :

1. Vector Space of real numbers R.

2. Vector Space of all convergent sequences.

X Vector Space R™ of all n-tuples.

) Vector Space P[0,1] of all polynomials on [0,1].
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: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
EEREE e EICE CASRER ]
Options :

1. AR T R FT A q0fy
2. G SR 3! Bt qAfD

AT n - cgat Fr @iger @A R”



[0,1] TR @t Jguar Fr @wheer FACE P[0,1]

Question Number : 57 Question Id : 5400731257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If X isaHilbertSpaceand T:X — X is an operator defined by T = 2il,

where [ is identity operator, then
Options :

1 T is self adjoint operator.

T is unitary operator.
2.

5 T is normal operator.

LTl = 1.

Question Number : 57 Question Id : 5400731257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I X TF Boae TH § TAT T:> X TF TR ¢ 3 F T = 2i1 ¥ oienivg
g ST8r [ U SHig TFNE g al

Options :
1. T U Y TSSdIS< YbRS § dl

2. TT& Gt YHRP g
3. T U U RS g

[IT]] = 1.
4.

Question Number : 58 Question Id : 5400731258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let G be agroup of order 45. Let H be sylow-3 subgroup of G and K be

sylow-5 subgroup of G, Then

Options :

Both H and K are normal in G.
1.

5 H is normal in G but K is not normal in G.

His not normal in G but K is normal in G.



Both H and K are not normalin G.

Question Number : 58 Question Id : 5400731258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT G U THE ¢ TSFehr FIfE 45 1 AT HTFH G T 3 - GEall 3TTAE ¢
AT KT G# 5- Aigall 398Hg § | ar -

Options :

1. G H H YT K SFI I SUNE & |
2. H UM § fobeg K I T 21
3. H U T8 § fobeg K U= &1
4. HTUTK S T g1 § |

Question Number : 59 Question Id : 5400731259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let G be asimple group of order 168. What is the number of subgroups of
G of order 7.

Options :
1.1

2.7

3.8

4.28

Question Number : 59 Question Id : 5400731259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT G U QTR0 G9g (Riue 7 JU) B B! Sife 168 81 G & 37 IuTg! &l T R S 7 difc & 8 -
Options :

1.1

2.7

3.8

4.28

Question Number : 60 Question Id : 5400731260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the algebraic extension E = Q(v2,/3,V5) of the field Q of

rational numbers. Then the degree of E over Q, [E: Q] is

Options :
1.3
2.4
3.7
4.8

Question Number : 60 Question Id : 5400731260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT E = Q(W2,V3,V5), & QF T ear &, gt Q AT a&=amsit #r
AT MEHF QW R, [E:Q]FT A ¢ -

Options :



1.3
2.4
3.7
4.8

Question Number : 61 Question Id : 5400731261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let f:C — C be an analytic function. For z = x + iy, let u,v:R?* - R be such that
u(x,y) =Ref(z) and v(x,y)=Imf(z). Which of the following is incorrect

Options :

8%u  @%u

=0
dx2 ay?

a%v 9w

=0
2 2
5 dx oy
9%u d%u .-
3 dxdy  dydx o
d%v 9%v
dxdy dydx B
4.,

Question Number : 61 Question Id : 5400731261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

AT f:C - C T 328F B gl z=x+iy & ToIC AT uw,v:R2 >R &
YR & & u(x, ¥) =Ref (2) TAT v(x,y)=Imf(z). af & & & FiaT T1 TFeg
AT § -

Options :
%u = 9%u
ol W e e
| axz = ay?
2v  9%v
2 2 0
ax ay
2.
a%u 9%u
dxdy dyox o



a2y a2y

dxay dydx

Question Number : 62 Question Id : 5400731262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let C be a circle of radius 2 with center at origin, oriented in anti clockwise.

Then the fc is equal to

az
(z-1)?
Options :
1

1. 2mi

2.0

Question Number : 62 Question Id : 5400731262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT C U 99 g fSehr Fear 2§ Jur &g J-j\dar%%',dld-!ldctl e & goAaT ¥
Eﬁf awm?r%

Options :

1

2mi

21l

4.1

Question Number : 63 Question Id : 5400731263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let f be a bilinear transformation, which maps-1to 1, i to o and —i to
0.Then f(1)=?

Options :

—I
1.



4.1

Question Number : 63 Question Id : 5400731263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AT f U Gl (FEelfedR) TaecoT § i foh - 1@ 1|, i & o0 |,
i @ 0 TAedRd AT § ar f(1) FT A greT-

Options :

—i
1.

4.1

Question Number : 64 Question Id : 5400731264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The general solution of P.D.E (x + y)zp + (x — y)zq = x* + y? is

F(x*+y*+2z%2°—xy)=0
F(x*—y?—2%2*-2xy)=0
Fx+y+zz—2xy)=0

F(x? —y? —z2 72—%°y°) = 0

Question Number : 64 Question Id : 5400731264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTTAF 3aGehel FHBIOT (X + y)zp + (x — ¥)zq = x* + y? &T TGS g & -

Options :

F(x*+y*+2z%2z°—xy)=0

F(x?—y?—2z%2*2—-2xy)=0



Fix+y+2z2z—-2xy)=0

F(x?—y® —z2 z—%y%) =0

4

Question Number : 65 Question Id : 5400731265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The cauchy problem y:—i — xz—; =0 and x,(t) = cost, y,(t) = sint, z,(t) =1 has

Options :

1. unique solution

2. no solution

3. infinite solution

4. more than one but finite solutions

Question Number : 65 Question Id : 5400731265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
a#%h' 0z 0z = :
AT y——x— =0 J@l x,(t) = cost, y,(t) = sint, zo(t) = 1
ax ay
Options :
1. 3ifgdia ga

2. PTs g Tal
3. 3{Idgd

4. T ¥ 31fAes foreg Ui gt

Question Number : 66 Question Id : 5400731266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For the diffusion problem u; = u,,, u(0,t) = u(m,t) =0 and u(x,0) = 3sin2x. Then

}the solution is given by
Options :

3e~tsin2x

3e %sin2x

3e %tsin2x

3e~*sin2x



Question Number : 66 Question Id : 5400731266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

faaTor @A IO u, = u,,, u(0,8) = u(m,t) = 0 JAT u(x,0) = 3sin2x. & ol § -
Options :

3e~tsin2x

3e sin2x

2.

3e~2tgin2x
3.

3e *sin2x
4,

Question Number : 67 Question Id : 5400731267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
. d? d i :
Let y;(x) and y,(x) be two solutions of (1 — x?) d—sz’ = Zx% + secx.y = 0 with wronskian

W(x). If y,(0) =1, (%)M =0 and W (3) =3 Then (%)M is

Options :

A unique solution if a = 0.
4,

Question Number : 67 Question Id : 5400731267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
AT y,(x) TAT y,(x) HHRIOT (l—xz)%—2x2—1+secx.y: 0 % 3l g & Tor®anr
TEFTT Wix) 81 3R y,00=1,(22) =0 dwmw(i)=;ar (%)x:o T A
grerT-

Options :

x=0



e

2.1
3
4
3.
4

Question Number : 68 Question Id : 5400731268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The initial value problem y' = 2\/_, y(0) = a has

Options :

A unique solution, if a < 0.

No solution if a > 0.
Infinity many solutions if a = 0.
A unique solution if a = 0.

Question Number : 68 Question Id : 5400731268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

URA® AT FAEIT y' = 2./y, y(0) = a I@T &-
Options :

A unique solution, if a < 0.

No solution if a > 0.
Infinity many solutions if a = 0.

A unique solution if a = 0.



Question Number : 69 Question Id : 5400731269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the system of differential equations Z—f =2x—17y, % =3x —8y.

Then the critical points (0,0) of the systemis an

Options :

1. Asymptotic stable node
2. Unstable node

3. Asymptotic stable spiral
4. Unstable spiral

Question Number : 69 Question Id : 5400731269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
foteeT 37ashel FHIRIOT T =5 = 2 - 7,2 = 3x — 8y % AT Flieas
fo=g 00) ¥

Options :

1. Asymptotic stable node
2. Unstable node

3. Asymptotic stable spiral

4. Unstable spiral

Question Number : 70 Question Id : 5400731270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let f(x) =ax + b for a,b € R. Then the iteration x,,,; = f(x,) starting

from any given x, for n = 0 converges

Options :

1 forall a € R

21’c:.rn0 a € R

forall a € [0,1]

3

onlyfor a=20

Question Number : 70 Question Id : 5400731270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTT f(x) = ax + bfora,b €R ad fordr B T x, § UFT el W 3ARn>0 &
foIT X1 = fx,) T GoRIE (FSVA) HTHART BIem & -



Options :

1 forall a € R

, forno a € R

forall a € [0,1]

3

onlyfor a=0

Question Number : 71 Question Id : 5400731271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The first approximate root of the equation x> —3x —5 =0 where x, = 3 is

Options :
1. 1.4583
2.2.4583
3.2.8543
4.3.1543

Question Number : 71 Question Id : 5400731271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HHIRIOT %% — 3x — 5 = 0, x, = 3 T YAH HieeAhe HA ¢ -

Options :
1.1.4583
2.2.4583
3.2.8543
4.3.1543

Question Number : 72 Question Id : 5400731272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The condition for convergence of the Newton-Raphson method to aroot « is

Options :

(@)
=
21" (a) =

f'(a)

1.
@



f'(@)
dl.
r'(a) >

(@)
— > 1.
, 2f" (@)

Question Number : 72 Question Id : 5400731272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

=T YoueT R &, Bl gt o Fr 3T afEEer f aa § -

Options :

(@)
& s
21" (a) s

f'(@)
1.
@

2.
(@)
il
() =
3.
f'(@)
— > 1.
, 2" (@)

Question Number : 73 Question Id : 5400731273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which Integral equation is Volterra integral equation
Options :

u(x) = F(x) + A [ K(x, t)u(t)dt

u(x) = F(x) + A [ K(x, t)u(t)dt

u(x) = F(x) + A [°_ K(x, t)u(t)dt

u(x) =F(x)+ A f(? K(x,t)u(t)dt



Question Number : 73 Question Id : 5400731273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
g & 1 O gefieRor die A FHIR T THEROR -

Options :

u(x) = F(x) + A [ K(x,t)u(t)dt

u(x) = F(x) + A [ K(x, t)u(t)dt

u(x) = F(x) + A [ K(x, t)u(t)dt
u(x) = F(x) + A [z K(x, u(t)de

Question Number : 74 Question Id : 5400731274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The eigen values of the integral equation u(x) = A fon sin(x + t)u(t)dt are

Options :
-1 1

4.0,1

Question Number : 74 Question Id : 5400731274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

AR HHROT u(x) = 1] sin(x + Hu(t)dt & AU AT (3T HA)
3

Options :
-1 1

n'm



1 -1
}
) 2 P
2 =3
N n’
4.0,1

Question Number : 75 Question Id : 5400731275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Resolvent Kernel of Volterra integral equation with kernel K(x,t) :—EZZ’;
Options :

K e Ax+0)
1.

Ke-Ax-0
KeMx—0)
Ke-Aa+D)

Question Number : 75 Question Id : 5400731275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A HATRST FHIFIOT [HEHT FAel K (x,1) = 2= §, T RATedee Felol GIaT-

2+

Options :

K eAx+0)

Ke—A(x-0

2
KeMx—t)
3.
Ke-Aa+t)

Question Number : 76 Question Id : 5400731276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

In a lattice (L, <) thestatement aAa =a, aVvVa =a isknown as

Options :

1. reflexive law
2. idempotent law
3. transitive law
4. distributive law

Question Number : 76 Question Id : 5400731276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fordr dfeT (1, <) A FAT ana=a dUMaVa=a FEAT § -

Options :

1. g A (Ruifeaa @

2. gday Aoy (smgsmde @
3. TeoprHe aH (gri=ufea @

4. ¥ fam (feisgfea @l

Question Number : 77 Question Id : 5400731277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Minimal boolean function in two virables x and y is

Options :

A

) 20V s X SV

XY, RN 2 Y
x".y,x.y

Question Number : 77 Question Id : 5400731277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TR x TUT y H I §eiTd Ber &-

Options :

I
Xy
) 26 e SV

! ! ! !
xy,xy, Xl y,xly



x".y,x.y

Question Number : 78 Question Id : 5400731278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If A and B are disjoint stes, then which of the followjing is true

Options :

JAUB| = |ANB|

|JAUB| = |A| +|B| — |A N B

_JAnB|=14] - |B]

|AU B| = |A] + |B|

Question Number : 78 Question Id : 5400731278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I A TUT B SRged G g dl Y A P T HYT I E -

Options :

JAUB| = |ANB|

|AUB| = |A| + |B| — |A n B

JAnB| = 4| - B
AU B| = |A] +]B|

Question Number : 79 Question Id : 5400731279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A variable which stores the address of another variable is known as
Options :

1. Array

2. Identifier

3. Pointer

4. Input function

Question Number : 79 Question Id : 5400731279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Teh TR Sl AR TR T Ul G Rl 8, HEalrd] 8
Options :

1.3R

2. ATSTIHRR

3. Wge}

4. 39S B

Question Number : 80 Question Id : 5400731280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statement is multi-branching (decision making ) statement
Options :

1. The if-else statement

2. The switch statement

3. The if statement

4. The continue statement

Question Number : 80 Question Id : 5400731280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

[EER:K] DI Y a@mﬁa (multibranching) 3ryfg fediem AfdT %—
Options :

1. Is-else hY

2. Switch PYUT

3.1 PYT

4. Continue PYT

Question Number : 81 Question Id : 5400731281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which control structure is used in the case of Exit control loop
Options :

1. while

2. for

3. goto

4. do-while

Question Number : 81 Question Id : 5400731281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TfRTe gl U § & 91 ol ek WA gl g -
Options :

1. while

2. for

3. goto

4. do-while

Question Number : 82 Question Id : 5400731282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let f(x) =x and a(x) = x? then what is the value of R-S Integral fol fda ?

Options :

2

3



w | =

N

4.1

Question Number : 82 Question Id : 5400731282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
AT f(x) = x T a(x) = x> o JART - FANH FAHS [, fda FT AT § -

Options :

2

3

W |

N W

4.1

Question Number : 83 Question Id : 5400731283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is true
Options :

1. Every neighbourhood is a closed set.
2. Every neighbourhood is an open set.
3. A finite set has one limit point.

4. An infinite set has no limit point.

Question Number : 83 Question Id : 5400731283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

REEE KRR E R i

Options :

1. A% A U §9d =4 B |

2. YA A U fagd 9= 8|

3. TS UM T &1 U AT famg g g

4. Ueh 30 G $T Hls G141 fog TS T 8|

Question Number : 84 Question Id : 5400731284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is true.
Options :

1. Compact subsets of metric space are open.



2. Closed subsets of compact set are not compact.
3. Compact subsets of metric space are closed.
4. Open subsets of compact sets are compact.
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foder e Ia s -

Options :

1. gR THfd &1 Filae Iuag=d fagd §iaT 3|

2. PTG T BT Igd IUGHE, HIHFT T8l gl |
3. gRes T 1 Hlide IUgHey qd gl g |

4. BTHITE G 1 [3gd SUTH=, Bree eIl 8|
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The value of following convolutionis 1*1*x1*1x1%1...x1 (n times)

Options :
tn+1
(n+1)!
1.
tn
(n—1)!
2.
tn—l
(n—-1)!
3.
tn—l
n!
4.
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GEa %Trd\lcvqgla'ﬂma'-1*1*1*1*1*1.,.*1(?131?)

Options :

(n+1)!

tn

(n—1)!



(n-=1)!
3.
tn—l
n!
4,
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1 ]
The Fourier transform of F(x) defined by F(x) = {0 ’ :;: ; Z isif (p+0)
Options :
2sinpa

pV2m

2cospa

pvam

2sinpa

VT

2cospa

VT
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Feo =1, ’:i:iz',p#—'o T BRI FAT=E0T § -

Options :
2sinpa

pVv2m

2cospa

pV2T

2sinpa

pVmT



2cospa

pVm
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If f(p) is Laplace transform of F(t), then Laplace transform of e® F(t) is
given by

Options :

 f(ap)
f(%)

a

_f(p+a)
.f(p—a)
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i F(t) T ATCATH AT f(p) & dl e™F(t) & SATCATH Fded0T §IET -

Options :

~ f(ap)

) f(p+a)
) flp—a)
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The standard deviation of a symmetrical distribution is 5. What must be the value of fourth

moment about mean in order that the distribution is Lepokurtic?

Options :

w, = 1875

1.

1y > 1875

U, < 1875
Uy = 25
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Options :

w, = 1875

1.

> 1875

Uy < 1875
Hy = 25
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If X is a Poison variate suchthat P(X = 2) =9P(X =4) + 90P(X = 6),

then what is the value of mean of X?

Options :

Question Number : 89 Question Id : 5400731289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
Ife X Tk SO1ET T 80 UFR § hP(X =2)=9P(X = 4) +90P(X = 6) @ X &
ATET T AT g&T -

Options :
1

2
L.

2.2

3.1
4.0
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If by and b, are regression coefficients, then corelation coefficient r is given
by

Options :

+/b1b,

b,

T |5,
2.

b1b,
3.

b,y

b,
4
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I by TAT b, FATHIACT IV & AT HE &= IO r FT AT BN -

Options :

+/b1b;

1



I+
¥ |r—\

b4y
b,
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If ¥ and y% are two independent chi-square variates with n; and n, degrees

2
of freedom respectively, then ;{—; isa
2

Options :

n n :
By (—1, —2) variate.
7

n n .
B> (—1 , —2) variate.
2.tz

pi(ny,n,) variate.

BZ (nlr nz) variate.
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Il 42 TAT 42 & TG F12-T9T W & [FThr Tadeaar 1 Fife FAA: n, TTTn, §
ar 4 g -

2

Options :

n n :
By (—1, —2) variate.
7



n n .
B> (—1 , —2) variate.
2

2
2
ﬁl(nlrnz) variate.
3.
ﬁz(nl, ?12) variate.
4,
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The minimum value of linear objective function z = 5x, — 2x, under linear

constraints 2x; +3x, =21 and x;,x, =0 is

Options :
2
1. 3
1
3
2.
3.
1
3
4.
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bareEn ::d@‘w' Whelel (Linear objective function) z = 5x; — 2x; T =gIdH HTT

m,m%le‘l'g.x'z 21x1,x2 20

Options :
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A problem where the objective is to assign a number of origins to the equal number of destinations at a minimum cost or maximum profit is known as
Options :

1. Linear programming problem

2. Assignment problem

3. Transportation problem

4. Dual simplex problem
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TP JHWT AqH AN BT SHfAHAH AT TR Bl 8, T8 3834 Tded &1 JHMH a1 & forg o3 g0 7a Ay e g -
Options :

1. 3G g guen
2. Traa wmen
3. gige T
4. 58 Ry ga=n
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If and only if, the corresponding cells in transportation table do not contain a loop, then solution to a transportation problem is called
Options :

1. Optimal solution

2. Feasible solution

3. Basic feasible solution

4. both (A) and (B)
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Ife; 3R FHaat afg, uRag groft & ira et & qu nide 78 § a9 ukae Ta H1 8 & -
Options :

1. S¥dH d

2. gHa Bd

3. g Sya gd

4. G (a) 3R (b)
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The logistic growth model for single species is given by
Options :

dN
—=17rN
dt



dN

W= (- d)N?

dt
2.

W —rN (1 .x ﬁ)
N dt K

o (1-5)

dt
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THd T & forT IHR o 9fS (Logistic growth) TIRET 8-
Options :

dN
dt

=N

dN
dt

(b — d)N?

dN

" :rN(1+%)

dN

p :rN(l—g)
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The possible steady states of the following discrete model for single specie are

Nt+1 = Nte[r(l_%)]

Options :

0,1

1,K

2.

0,K



K,

N R
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T Talia & faw e Rafea o & @ T fawg (Possible steady

Nt

states) BT - N,,, = Nel (%))
Options :

0,1

1,K
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In the general two compartment model, both eigenvalues of transfer matrix are
Options :

1. real and non positive

2. imaginary with non positive real parts

3. real and non-negative

4. imaginary with positive real parts
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e f§-FroTchT Hied §, Traw Bfcad & a1 sifiyaeies A gia & -
Options :

1. IRAfd® Td SYATHE |

2. I fTH arafds YT BT 8l

3. AT UG SO |

4. T S H arRafae U 4TS &l
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The generating function of J,(x) is

Options :



eg(f_%)
2.

ex(H%)
3.

ex(t_%)
4.
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Jn(x) T STTH Tl & -

Options :

ex(t+7)

Question Number : 99 Question Id : 5400731299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The value of []%(x)r ik ]_%(x)r is

Options :

X

T



X
3.
2
X
4.
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aco] + aco] @1 = -

Options :
X
T
1.
2x
A
2.
1
TX
3.
2
X
4.
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Expression for f(x) = 10x3 —3x2 — 5x — 1 in terms of Legendre polynomial is

Options :

4P;(x) + 2P,(x) + P;(x) — 2Py(x)
2P;(x) — 4P,(x) + Py (x) — Py(x)

4P;(x) — 2P,(x) + P;(x) — 2Py(x)
4: 4P;(x) — 2P,(x) — Py (x) + 2Py(x)
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Telel f(x) = 10x* = 3x* = 5x — 1 FI olleel IgUG H yFd HIST A 3w M-

Options :

4P;(x) + 2P, (x) + Py (x) — 2Py(x)

2P5(x) — 4P(x) + P (x) — Po(x)

4P;(x) — 2P, (x) + Py (x) — 2Py(x)

3

4P, (x)—2P;(x) — Pij(x) 1 2P, (x)



